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Tangents, Velocities, 
and Rates of ChangeSlope of a tangent to a curve:

How will the slope of this secant become a better 
approximation for the slope of the tangent line?

Use your knowledge of limits to determine an expression for that would represent
the slope of the tangent line drawn at the point x.

How will we find the
slope of a tangent drawn
to a curve at a point x?

x x + h

Tangent

Secant

h

(x , f(x))

(x + h , f(x + h))

y = f(x)
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Example:

Determine the equation of the tangent line drawn to the curve y = x2 + 2
at the point x = ­2 .
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Homework: 

Page 35

#7 (i), (ii), (iv) and (v)
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Worksheet ­ Sketching Angles in Radians.doc

Warm­Up ­ Intro to Limits.docx

Review ­ Factoring.pdf

Worksheet ­ Factoring Review.doc


Trig & 3-Space 122 - Sketching Angles in Radian Measure


Instructions:  Evaluate each of the without the use of a calculator.  Sketches must be included.
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AP CALCULUS 120

WARM-UP: LIMITS										OCT. 2009



1.  Use the graph of f(x) shown to evaluate the following:						[4]

[image: ]







































2.  Evaluate each of the following limits.  If a limit does not exist provide a reason.		[16]





(a) 						(b) 











































(c) 					(d) 
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polynomial. When you factor the following polynomials,

to factor a
always check for

st. There are at least two expressions that cannot be
factored. Can you find others?
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